(3)

gUs - % /f
SECTION - A ‘
1. sfest oiBe & Rvaa-igar ek o B
(A) dfeed % ST 9
(B) dferest &1 fafy o
(C) o & AfarErer o
(D) TIqFT Tt
Reliability of sampling data depends on :
(A) Size of the sample
(B) Method of sampling
(C) Training of sampling

(D) All of these

2. e st AR w3 B Tor G ¥ -

(A SERE B

(B) SR B
(C) (A) R (B) &
(D) - FH & HIg &

‘Which is the main source of collection of pri
(A) Published sources

(B) Unpublished sources

(C) Both (A) and (B)

(D) None of these
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3. ¥ Yo §1d FA H GA ¢

(A) Lz-1

(B) Ly«

c Ll
2

D M

(D) :

Formula for finding out mid-value is :

(A LI
(B) ILy+1,
o bk &\M&V\KO‘W BS

4. FegE TF Ged [hah HeA B &

(A) OTur +1
(B) -1@ar 0

(C) —1aar +1

(D) 7H & &3 &

The value of co-cfficient of correlation always lies between :
(A) Oand +1

(B) -landO

(C) -1and +]

(D) None of these
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5. W oMW w gy am b '

A T amu

(B) T8 amm

(C) g fas

(D) T

The other name of pie diagram is :

(A} Circular diagram

(B) Bar diagram

(C) Histogram

(D) Polygon

6. M # W A% WL A ... & A P s e Lezzefbreen)
The use of title where as possible should be in ... . (singular/plura
7. [ @ @ = aa B AW @ e @ L o (tmngq/aﬂﬁ‘érr)

The difference between upper and lower limit is called ... ... .

8. Wit el @ & @ g B, A q@mw A A .

Median is that value
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7€ (35 Ho 9 w 10) Pl T U - S (A) T W (R) R R T R
ﬁﬁﬁﬂ ﬁmﬁgﬁ
(A) ST (A) T % (R) 31 W ¥ o 0% (R) SRS (A) F A8 W Y

(B) emmm)amaa%m)aﬁm%mae#(mmmwwaawmm
2

(C) s (A) 7 B, Wy 0% (R) oW B
(D) STHF (A) 9 &, Wy 0% (R) 79 B

Note : (Q. No. 9 & 10) Read the following statement — Assertion (A) and Reason (R).

Choose one of the correct alternatives given below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false. 4

(D) Assertion (A) is false, but Reason (R) is true.

9. SHFET (A): TR [EHE F MR at F W & oy b 1
T (R): O qEws § g af # amn @ o b

Assertion (A) : Laspeyre Index use base year quantity,

Reason (R) : Paashe index use current year quantity,

. mﬂ(m:mmﬁma{=m=a§mﬁai

Assertion
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A1 Wiwmammftwmﬁ.
Write down the difference between primary and secondary data.

12. iomﬁﬁmﬁa@é(soﬁ)m%umﬁﬁmmmmm=

15 1 20| 30| 22| 25 18 | 40 | SO0 | 55 | 65

The pocket money of 10 students in following. Find mean by direct method :

15120 | 30| 22|25| 18|40 (50| 55| 65

SRC|
OR

Fr= ifest 1 weradr § Fead Ry 270 e 9 E5

70 | 10 |500| 75 | 13 |250| 8 42

Find the mean of the following data by assumed mean method :

70 | 10 |500| 75 | 13 | 250 | 8 42

13. {7 ofi&s! % o § FfE Te-Td TIH T B¢ -

X | 21 22|28 |32]|35]| 36

Y | 28|20 | 25| 38 | 34 | 32

Calculate Rank co-efficient correlation from the following data :

X | 21| 22|28 | 32| 35| 36

Y | 28 |20 )25 | 38| 34 | 32
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}4%mﬁwm%?mmﬁmﬁl 4

What is meant by Exclusive scries ? 1llustrate with an example.

e

OR

VT G { T A B ? gHd g e § 7

What is Bar Diagram ? What are its features ?

18, wifer # ge dmst w1 v :

Explain the main limitations of Statistics.

%mmmﬁmmm%?mmawmu 6

What is meant by census method of data collection ? Give its merits and

demerits.

OR

mﬁmwamwafm%?sﬂ%ﬁﬁmmmavhﬁu
What is meant by classification ? Expl

ain its various objectives.
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17. wier i agas o ¢ 6
™mREg | 1 |2 3|a|ls|6 |7
e | 3 (101220 (12|10 3
Find out median and mode :
Mid Value 1 7 3 4 S 6 7
Frequency | 3 | 10| 12| 20| 12 10| 3
HYqr
OR
P iiet & A1 (Mean), wiftgs (Médian) 3T IEEF (Mode) Ta FY :
RIESES 0-10 | 10-20 | 20-30 | 30-40 | 40-50
RIESEIEG 2 B 6 4 2
Find out mean, median and mode from the following data :
Class Interval | 0-10 | 10-20 | 20-30 | 30-40 | 40-50
Frequency 2 4 6 4 2
e - g
SECTION-B
18. SIYFAlT® MET & RF, AW H TG SO qu ¢
(A) A FH T
(B) ¥=A T &
(C) = g 7Y T
4By IR W
2612 P.T
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During colonial period, India's demographic profile showed :
(A)  High birth rate

(B) High death rate

(C) High infant mortality

(D) Al of these

19. ﬁwmﬁnaﬁmmgeﬂ?

(A) 1947 ¥ (B) 1948 &
';c;r 1950 # (D) 1951 %
When was planning commission established ?

(A) In 1947 ' (B) In 1948
(C) In 1950 (D) In 1951

20. 9T F gRd wHifa @ 9w W@ E -
(A) wHT Il ¥ gha
(B) &% H wai@ gE
(C) W= IR § S
,(p)/atrfraa el
The features of Green Revolution in India is :
(A) Increase in crop production
(B) Substantial rise in the acreage

(C) Self sufficiency in food production

(D) All of the above
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21. TS F @ By ad gd o 7

(A) 1969 ¥ B 1982 #

(C) 1081 H (D) 1991 #

In which year NABARD is established ?

(A) 1969 (B) 1982

(C) 1981 (D) 1991

22. IWTIR AR ) G = 5% g7 — ... |

(A) =9
(B) &4 T

(CY” Tt AT

(D) §ewRar 3T

Number of unemployed persons = Labour force — ............... :
(A) Labour supply

(B) Work force

(C) Total population

(D) Participation rate

23. Hifer (NITI) T4 & &Iy o T 7 g (2}45/9016]

NITI Aayog was established in the year ... .. 2
year .............. . 015/201¢

2612
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24, oo feva 1wl 731 ar@w S 29 B (?ﬂé/‘mﬁ) 1
(China/lndia)

1s the largest producer of rice in the world.

-----------------

25. WG el GEadia A .. T e g (1950/1951) 1

First Five Year Plan of India was established in VEARE cosessosrsssses . (1950/1951)

B (9 Ho 26 w 27) Frfifed @ @ - sREE (A) ST @ (R) 49 R T
Rt % 3w R 1 7
(A ST (A) 71 &% (R) 21 6 ¥ a0 a9 (R) S (A) 7 A8 S 2

(B) SI%4T (A) T @% (R) EFT 6 § a1 @ (R) STWa (A) 91 @81 ST 8
2

(C) SfHFET (A) §9 B, TG T (R) 376 2 .

(D) SIT¥HEH (A) 3T &, T % (R) 9 &I

ote : (Q. No. 26 & 27) Read the following statement — Assertion (A) and Reason (R).

Choose one of the correct alternatives given below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).
(B) Both Assertion (A) and Reason (R) are true and Reason (R) is not the
correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

4
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26. W(A):maﬁhﬁﬁam(mnm%tmﬁmﬁm%u ,‘
aa%(n):iﬁﬂma‘farﬁaﬂeﬁﬁm%u

Assertion (A) : FDI in China is higher than India.

Reason (R) : China is found to be more investment friendly.

27. SHET (A): B T sy IeETH T o b L
ﬁ(k):mmm%mm%maﬁwgﬁﬁm%l
Assertion (A) : Disguised unemployment is found in agriculture.

Reason (R) : More labour are engaged in agriculture due to joint family system.

/zdﬂnai'rwiaﬁﬁwzﬁtzaéa?vﬁmﬁﬁféu 3

Explain any three problems faced by human capital formation in India.

ILC|

OR

A9 @ A TR F S awen o ¢ 7

How human can be converted into human capital ?

;a/maﬁ%ﬁrzﬁé?fl%qﬁ@rml ' 3

Explain the importance of organic farming in India.

2612 E.T.8
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?Zm%mmam%m%WMﬁm'ﬁ'

Discuss the principle causes of the backwardness of Indian cconomy at

time of independence.

HYdr

OR

QA=A S GHY AR arefeqawn g Rded @6y F TR

Briefly explain the main features of Indian economy at the time |

independence.

31. R [ A Rt & aof $4

Explain the features of Sustainable Development.

32. ARG S QiHEE F A GETAS & guA B

Explain common successes of India and Pakistan.

33. g # onfifs M @t Suafedt &1 aofg 54

Describe the achievement of economic planning in India.

TYqr

OR

qRa § o e @ STaEadrsl # ave &4

Describe the failures of economic planning of India.
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34, STEF TN T A0 ¥ ? oMt e A e w1 b w0 8

8 i vt T 2 . . - .
What is meant by economic reforms ? Explain the need for cconomit reforms.

HYaqr
OR

} aﬁwﬁmémm%?sﬂ%g@mwmﬁ

| What is meant by liberalization of the economy ? Explain its main measures.
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